Equal 9 step grey scaling betweeb* gan=18 & L* gaw=135.1,Ygret=4, normalisation white W

L*0anF18.3,L%0a=76.7,L*0aw=135.1,Yoan=2.0, Yoa=54.3, Yoan=200.0,Coav=Yoaw: Yoan=100.0
L*taN=29.2,L*tau=78.4,L*taw=135.1,Y1an=5.9, tau=57.1, Ytaw=200.0,Cray=Ytaw: Yian=34.0
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 BL* min] / [AL* max], L* TusrGB,w = 100 [Y/Yy]YIN(10) with Y >= 0,39 = 100/255Y,=100

9= 99, g%= 99 9= 77, 9= 69 g*%= 67, g%= 60
L* tuBsrGB,w intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*tr) 1134 *a Al*la
140+ :
Og 1351 1.0 2000 1.0: 1351 1.0 2000 1.0 135.1
: 14.3 10.9
8 1205 0.875 153.7 0.766 120.8 0.865 154.6  0.897 124.2
: 14.2 11.3
105+ 7 1059 0.75 1141 0566 106.6 0.73 1158 0.791 113.0
: 14.1 11.7
6 91.3 0625 81.1 0399 924 0.597 83.4 0.68 101.2
3 14.0 12.3
.5 767 05 543 0264 78.4 0.465 57.1 0.564 88.9
70T 3 13.8 13.0
.4 621 0.375 334 0.158 64.7 0.335 36.6 0.441 76.0
: 13.3 13.8
.3 475 025 180 0.081 51.4 0.209 21.6 0.311 62.1
: 12.3 14.9
35*.2 329 0125 7.7 0.029 39.1 0.093 11.5 0.17 47.2
: 9.9 18.0
.1 183 00 20 00! 292 00 59 0.0 29.2
o~ 3 YoartY,
AL*z=14.6  (i=1,2,..,8) | normalisation: Yiajw=Yoaw.y22l 10rel
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